Ornskoldsviks BA
Handicap par 2022-05-10

Partavling, 9 bord, 18 par. Antal brickor: 24. Medel: 192.0.

Plac Par Poéng % Namn MID Klubb
1 13 265.6 69.17  Anders Elfving - Qatarina Laine 47451 33317 Ornskoldsviks BA
2 11 234.2 61.00 Marianne Sjostrém - Ing-Britt Abrahamsson 67410 43481 Ornskdldsviks BA
3 17 233.2 60.74  Per Hoppman - Jan Ola Vestin 201042 201043  Ornskoldsviks BA
4 18 218.6 56.92  Per Strandberg - Thomas Wastlund 57572 57567 Ornskoldsviks BA
5 12 213.6 55.64  Margit Hagglund - Barbro Gimbergsson 46273 55801 Ornskdldsviks BA
6 10 212.6 55.35  Sten Haggstrém - Lars Ahlenius 32558 34696 Ornskoldsviks BA
7 15 207.9 54.14  Ingrid Sundgren - Eva Eriksson 47455 53815 Ornskoldsviks BA
8 4 197.9 51.54  Tina Olofsson - Berthold Ogren 29011 63347 Ornskdldsviks BA
9 16 189.9 49.47  Knut Gauslaa - Tommy Abrahamsson 28023 49166  Ornskoldsviks BA
10 3 185.7 48.36  John-Ove Backlund - Rolf Andersson 8964 52457 Ornskoldsviks BA
11 2 177.0 46.08  Anders Ljung - Gunilla Magnusson 20413 55245 Ornskdldsviks BA
12 1 173.3 45.13  Elsy Boman - Eva Elfving 14440 47452 Ornskoldsviks BA
13 14 165.5 43.10 Ake Wikman - Stefan Mattfolk 37084 14455 Ornskoldsviks BA
14 8 164.6 42.86  Olle Nylander - Kerstin Forsman 3375 3445 Ornskdldsviks BA
15 6 163.0 42.45  Annette E Rutstrom - Berit Bjorklund 201040 201035  Ornskoldsviks BA
16 7 159.1 41.42  Sigvard Burland - Karin Bergstrom 49386 49385 Ornskoldsviks BA
17 5 152.0 39.59  Ann Ingberg - Karl Ingberg 63173 63172 Ornskdldsviks BA
18 9 142.2 37.04 Lennart Gidlund - Monica Westin 64657 61109 Ornskoldsviks BA
1 & KKn87 Basta kontrakt 2 46 Basta kontrakt 3 49 Basta kontrakt
Nord vKn1084 2NT N =120 Ost v 109763 74 O =-1440 Syd v K2 64 V =-1430
Ingen + D109 NS + K982 ov + KD102
D9 & ¢ v & NT #542 & ¢ v & NT #Kn98643 & ¢ v & NT
4 D965 #1032 N9 86 78 4D8752 4 EKKn3 NO57 11 4 KDKn107 4 E864 N65111
vED93 K752 S986 78 vKn vE42 S05711 vEDKn1094 v86 S65111
465 ¢ EKn42 035765 ¢EKn7 D4 O 137 6 1211 | +94 ¢ EKn8 O 7 8 121211
#E74 %82 V35765 #EKn73 #KD96 V 137 6 1211 | &- #ED107 vV 7 8 121211
4E4 41094 4532
v6 v KD85 v 753
+ K873 ¢ 10653 ¢ 7653
#KKn10653 108 »K52
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 1 3vV-3 a7 150 16.0 0.0(12 11 44 O+1 &T -450 16,0 00|11 6 34 O+2 &2 -200 16.0 0.0
10 5 44S-= +5 130 13.0 30| 9 17 44 V+2 9 -480 110 5.0(|18 5 4v V+l 49 -650 140 2.0
18 4 24 N+2 +¢6 130 13.0 30|10 5 44 V+2 v6 -480 110 50|16 7 3NO+2 &2 -660 12.0 4.0
9 17 2NN= 2 120 100 6.0(13 1 44 0+2 ¥5 -480 110 50| 8 4 44 V+2 K -680 9.0 7.0
12 11 34 S= v3 110 80 8018 4 44 V+2 2 -480 110 5.0|15 3 4v V+2 49 -680 9.0 7.0
14 8 INO-2 &T 100 6.0 100|15 2 3NO+3 5 -490 6.0 10.0| 9 14 3NO+3 &K -690 50 11.0
7 3 2v0-1 &A 50 30 130 7 3 6aV= v3 -980 3.0 13.0(10 17 3NO+3 K -690 5.0 11.0
15 2 2v V-1 *Q 50 3.0 130(|14 8 64 V= vT -980 3.0 130 1 12 6v V= +K -1430 1.0 15.0
6 16 24 N-2 &8 -100 0.0 160| 6 16 64 V+1 9 -1010 0.0 16.0(13 2 64 V= +K -1430 1.0 15.0
4 & Kn74 Bésta kontrakt 5 & K954 Bésta kontrakt 6 » E96 Bésta kontrakt
Vast v2 6¢ N D -2-500 Nord vE9 54 N =600 Ost vD7432 44 O =-620
Alla + 10874 NS + Kn95 ov + Kn103
#EKKn102 & ¢ v & NT »ED74 & ¢ v & NT SEK & ¢ v & NT
4 KD 4E108652 N 8 101 1 1 4Kn732  4D1086 N 117 6 6 9 410875 & KDKn2 N467 36
vEKD874 vKn95 S 8 101 11 vKDKn42 v 1086 S 117 6 6 9 v K96 vE10 S467 36
+3 4962 O3 2 11103 +104 ¢ ED632 0266 73 ¢E2 + K876 08 7 6 107
#D953 *6 V 4 2 11103 *K2 «Kn V26673 #D1076 #Kn54 vV 87 6 107
93 s E 443
v 1063 v 753 v Kn85
+ EKDKn5 + K87 + D954
»874 1098653 #9832
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
18 5 5v V-3 *A 300 16.0 00|12 7 3#S+2 vJ] 150 150 10|12 7 3¢ O-2 vJ 200 16.0 0.0
112 3vV-1 *A 100 130 30|13 3 2v V-3 +5 150 150 10|16 8 2NV-1 v2 100 140 20
10 17 4v V-1 *A 100 130 30| 9 5 3&N= ¢ A 110 120 40(13 3 34 0= v5 -140 120 4.0
8 4 3vV= *A -140 80 80| 4 15 3v V-2 *A 100 90 7.0| 2 1 240+2 ¥5 -170 6.0 10.0
9 14 3v V= &K -140 80 80|16 8 4v V-2 *A 100 90 7.0| 4 15 24 V+2 #A -170 6.0 10.0
16 7 3v V= *A -140 8.0 8017 11 1e¢ N+1 #J 90 6.0 100| 6 18 34 O+1 8 -170 6.0 10.0
11 6 2v V+2 &J -170 3.0 130 6 18 4v V-1 *A 50 3.0 130 9 5 24 V+2 &A -170 6.0 10.0
13 2 3v V+l &A -170 3.0 13014 10 2v V-1 vA 50 3.0 13.0|17 11 34 O+1 ¢4 -170 6.0 10.0
15 3 4v V+1 &A -650 00 160 2 1 54N-1 8 -100 0.0 16.0(14 10 44 O= ¢4 -620 0.0 16.0
7 4952 Bésta kontrakt 8 a7 Bésta kontrakt 9 4 86 Bésta kontrakt
Syd v 103 44 V =-620 Vast vKD3 5NT S =460 Nord vKn76 3NT O =-600
Alla ¢ 743 Ingen ¢ EDKn1042 ov + D87
#EKD54 & ¢ v & NT #E52 & ¢ v & NT #E10532 & ¢ v & NT
« EKKn84 4107 N66 212 4 K865 & Knl02 N8 117 9 10 o KDKNn7 4943 N55343
v 987 vEKDKN62 S 6 6 2 1 2 vE64 v109852 S 8 117 8 11 vEK10 v9854 S 55 4 44
¢ K102 +9 O 7 6 10109 47653 - 052542 ¢ EK3 +1094 077989
*Kn7 #8632 V 7 6 10109 *K6 #Kn9743 V52542 #DKn9  #K87 V879829
4 D63 4 ED943 4 E1052
v54 vKn7 vD32
+ EDKn865 + K98 + Kn652
109 «D108 *64
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
13 4 49 O-2 &T 200 16.0 0017 12 3NN+2 T 460 160 00| 2 9 3NO-1 5 100 13.0 3.0
10 6 3¢ S+1 48 130 140 20| 1 8 3NN+1 v6 430 120 40| 4 3 3NV-1 *2 100 13.0 3.0
15 5 3vO+1 +A -170 120 40| 3 2 3NN+1 T 430 120 40|13 5 2NV-1 LX) 100 13.0 3.0
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1 8 4v 0= &T -620 50 11.0|16 9 3NN+1 T 430 120 40|15 6 2NV-1 3 100 130 3.0
3 2 4v0= *A -620 50 11.0(10 6 5¢ N+1 #J 420 70 90|17 1 2NV+2 &2 -180 8.0 80
7 18 4v O = *A -620 50 11.0|13 4 5¢ N+1 vT 420 70 9.0|10 16 3NV= 3 -600 4.0 120
14 11 4v O = &T -620 50 11.0|14 11 54 N= v5 400 30 13011 7 3NV= &5 -600 4.0 120
16 9 4v O= *A -620 50 11.0(15 5 5¢ N= vT 400 3.0 13014 12 3NV= *A -600 4.0 120
17 12 4v O= *A -620 50 11.0| 7 18 3¢ N+1 &2 130 0.0 16018 8 3NV+1l 46 -630 0.0 16.0
10 443 Basta kontrakt 11 452 Basta kontrakt 12 475 Basta kontrakt
Ost vE108754 3v S =140 Syd v 1093 3NT S =400 Vast v Kn6 44 V =-420
Alla + K3 Ingen + EKn1054 NS + EKKn7
#1072 & ¢ v & NT *Kn72 & ¢ v & NT #KKn1084 & ¢ v & NT
4107 «4EKDKn965 N 8 7 9 5 5 «E1064 4973 N 108 8 9 9 4E96 4DKnl0842 N 9 9 2 3 3
v K9 v32 S87 955 vDKn764 v82 S 108 8 9 9 vKD93 vE874 S99 233
¢ EKn87654 + - 056 384 +D8 ¢ K9763 035544 ¢D42 103 O 4 3 10104
#63 #DKn54 V46283 +98 #KD3 V35544 2963 &7 V 4 3 10104
482 4 KDKn8 4 K3
v DKn6 v EK5 v 1052
+D1092 2 + 9865
#EK98 #E10654 #ED52
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 5 4v N= & A 620 160 00| 5 4 3NO-2 v4 100 150 10(13 6 34 0-1 &2 50 16,0 0.0
2 9 44 0-1 A 100 120 40|13 6 2NO-2 v4 100 150 10|15 7 24 0= *2 -110 140 20
10 16 44 O-1 #A 100 120 4.0(18 9 INN-2 +4 -100 120 4.0| 3 10 34 O+1 #A -170 9.0 7.0
18 8 44 O-1 #A 100 120 40|12 8 3#0-= *Q -110 100 6.0| 5 4 34 O0+1 #A -170 9.0 7.0
4 3 240+1 +vQ -140 6.0 10.0| 3 10 3« O +1 &9 -130 80 80|12 8 34 O+1 #A -170 9.0 7.0
15 6 34 0= vQ -140 6.0 100|14 1 2NO+3 v6 -210 50 11.0|18 9 34 O+1 #A -170 9.0 7.0
17 1 24 O+1 &A -140 6.0 100|15 7 INO+4 v4 -210 50 11.0|14 1 5#N-2 «Q -200 4.0 120
11 7 34 O+1 #A -170 20 140| 2 17 3NN-5 ¢4 -250 20 140| 2 17 44 O= *2 -420 1.0 15.0
14 12 44 O= &K -620 0.0 16016 11 3NV= o7 -400 0.0 16016 11 44 O= *A -420 1.0 15.0
13 & K74 Bésta kontrakt 14 a2 Bésta kontrakt 15 & K732 Bésta kontrakt
Nord v EKDKn84 6NT N = 1440 Ost v EKn842 INTO =-90 Syd v7 64 SD-3-800
Alla +108 Ingen + D832 NS + ED109762
#62 & ¢ v & NT #DKn5 & ¢ v & NT &5 & ¢ v o NT
410982 #ES53 N 127 129 12 4K54  4DKn76 N6 66 65 +E « D10985 N19 152
v6532 v109 S 127 129 12 vD963 vK75 S666 65 v 10983 v EKD6 S$19152
¢D65 #KKn9742 0O 0 6 0 3 0 ¢E94  +KKnl10 056777 +8 ¢ Kn5 O 124 117 6
#Kn7  #105 V06030 #E108 #972 V56777 #EK97643 #DKn VvV 124 117 6
« DKn6 «E10983 & Kn64
v7 v10 v Kn542
¢E3 ¢ 765 ¢ K43
#EKD9843 #K643 #1082
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
4 11 6v N= A 1430 160 00| 4 11 2v V-2 a2 100 150 10|14 3 44 0-3 +¢K 150 150 1.0
1 9 64S+1 +5 1390 130 30 6 5 240-2 vT 100 150 10|15 9 44 0-3 +¢K 150 150 10
16 12 6#S+1 ¢6 1390 130 3.0|18 10 14 O-1 &3 50 120 40| 7 6 340-2 +¢K 100 11.0 5.0
17 3 4v N+3 T 710 100 6.0|14 2 INO= 43 -90 90 70|11 18 6vO-2 K 100 11.0 5.0
14 2 4v N+2 &A 680 70 9.0|15 8 INO= 3 -90 90 70|16 1 4+V+1 w7 -150 70 9.0
18 10 4v N+2 T 680 70 90| 1 9 2vN-2 ¢J -100 6.0 100|117 4 4&V+1 v7 -150 70 9.0
15 8 5#S+2 +¢5 640 40 120| 7 13 INV+l 2 -120 20 140| 2 10 5+ V= v7 -400 4.0 120
7 13 3v N+2 &A 200 20 140]16 12 INV+1 a2 -120 20 140| 8 13 5« V+l v7 -420 20 14.0
6 5 3#S+3 ¢5 170 00 16017 3 INV+1 v2 -120 20 140| 5 12 4v O+1 +¢K -450 0.0 16.0
16 & 8542 Bésta kontrakt 17 s EK Bésta kontrakt 18 493 Bésta kontrakt
Vast v9 74 V =-2210 Nord vKn3 3v OD-1100 Ost v- 54 O =-450
ov + DKn87 Ingen + KD982 NS + DKn1093
#8765 & ¢ v & NT #E732 & ¢ v & NT #EKn10652 & ¢ v & NT
4763 4EKDKN9 N5 2 101 4DKn432 - N6 75838 D106 4EKKn742 N 8 6 5 2 3
vKKn10652 vE7 $§52101 v 85 vEK10964 S 6 7 5 8 8 vED865 v10 S865 23
¢ E1063 ¢ K5 O 8 11121312 ¢ 75 ¢ Kn643 066854 ¢E762 +84 046 8 119
*- #ED102 vV 8 10121312 #KKn109 #854 V65854 *9 #K843 V 46 8 119
10 « 1098765 485
v D843 vD72 v KKn97432
¢ 942 ¢ E10 + K5
#KKn943 «D6 «D7
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
11 18 6NO-1  #K 100 160 00(13 9 24 S+1 ¥5 140 160 00| 8 7 44 0-2 v7 100 16.0 0.0
7 6 340+2 &9 200 140 20| 4 14 24 S= v8 110 140 20| 6 1 4e4V-1 vJ 50 140 20
16 1 3NO+3 #4 -690 120 4.0|16 2 3vDO-1 +A 100 120 4.0(17 5 24 O+2 5 -170 120 4.0
2 10 6y V= +Q -1430 70 90| 6 1 24S-1 v8 -50 100 6.0 3 11 44 O= 48 -420 70 9.0
512 6y V= +8 -1430 70 90| 3 11 44 S-2 v5 -100 50 11.0|13 9 44 O= +5 -420 70 9.0
14 3 6vO= *8 -1430 70 90| 8 7 44S-2 v8 -100 50 11.0|15 10 44 O= v4 -420 70 9.0
15 9 6v V= *8 -1430 70 9.0|17 5 4¢ N-2 ©vA -100 50 11.0|18 12 44 O= v9 -420 70 9.0
8 13 6NO= +9 -1440 20 140|18 12 44 N-2 vA -100 50 11.0|16 2 44 O+1 &7 -450 2.0 14.0
17 4 7NO= 3 -2220 0.0 16015 10 3NN-3 vA -150 0.0 160 4 14 44 O+2 #Q -480 0.0 16.0
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19 oK Basta kontrakt 20 4 Kn9654 Basta kontrakt 21 4 K98654 Basta kontrakt
Syd v K72 2NT S =120 Vast v 107 3NT N =600 Nord vD762 6¢ O =-920
ov ¢ KKn9762 Alla ¢ E42 NS +6
#1032 & ¢ v & NT #EKn10 & ¢ v & NT *96 & ¢ v & NT
453  DKn942 N78567 «E87  4KD1032 N9 9969 «E10 «D N6 1272
vEKn1094 v653 S896 738 v85432 vD S9996 9 v K5 v EKn103 S61272
+4 + D853 054755 +D83  ¢K107 042 473 ¢K1083 ¢DKn97542 O 7 127 5 7
#ED765 *4 V54755 *K9 #7652 V42463 #Kn8532 #E vV 7127 57
4 E10876 a- 4 Kn732
vD8 v EKKn96 v 984
¢+ E10 + Kn965 ¢E
#KKn98 »D843 #KD1074
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 10 3¢ N= v6 110 160 00|17 6 44V-5 v7 500 160 00|17 7 4¢ O+2 &K -170  16.0 0.0
7 2 3vV-1 oK 100 140 20| 4 12 INS+4 8 210 140 20(16 4 44 N-3 #A -300 140 20
4 12 3¢ N-1  #4 50 10.0 6.0(11 15 2NS+1 3 150 120 40| 5 1 5¢0+1 &K -420 6.0 10.0
5 14 3NN-1 &4 -50 10.0 6.0({13 10 2¢ N+2 vQ 130 100 6.0 8 3 56 O+1 &2 -420 6.0 10.0
17 6 4¢ N-1  «Q 50 100 6.0(16 3 2¢ N+1 &7 110 70 90|10 9 5¢ O+1 &K -420 6.0 10.0
9 8 44S-2 *4 -100 50 11.0|18 1 2vS= +3 110 70 9.0]|12 15 5¢ O+1 &K -420 6.0 10.0
18 1 34S-2 +4 -100 50 11.0| 7 2 14 N-1 &7 -100 3.0 13.0(13 11 5¢ O+1 &2 -420 6.0 10.0
11 15 2v V= oK -110 1.0 150 9 8 2NN-1 &K -100 3.0 13.0(14 6 5¢ O+1 &T -420 6.0 10.0
16 3 2v V= &K -110 1.0 15.0| 5 14 14 N-2 &7 -200 0.0 16.0(18 2 5¢ O+1 2 -420 6.0 10.0
22 & KKn542 Basta kontrakt 23 41098752 Basta kontrakt 24 49743 Basta kontrakt
Ost vD3 3NT O =-600 Syd v 1085 ANT V =-630 Vast v 63 INT V =-1520
oV + Kn975 Alla +104 Ingen 49862
*72 & ¢ v & NT *Kn5 & ¢ v & NT *K74 & ¢ v & NT
«E1093 476 N5 4454 2 KDKn3 46 N3 3352 ~ K8 «EDKN106 N O O 5 0 0
vE64 v KKn75 S54454 v K4 v DKn92 S$33353 v D54 vE S00500
¢ D102 # K863 089989 ¢ED93 ¢ Kn85 O 1010108 10 | ¢ EKKn1053 ¢ D74 O 13138 1313
*K43 *E106 V898729 D103  #E9862 V 10108 8 10 | #103 #EDKnN9 V 12138 1213
«D8 aE4 452
v 10982 vE763 v KKn109872
¢E4 + K762 .-
#DKn985 *K74 #8652
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 9 3NO-2 £Q 200 150 10|15 1 44V-3 *T 300 160 00|14 7 3NO+4 +¢8 -520 16.0 0.0
18 2 3NO-2 #0 200 150 10| 6 2 3#0-= v7 -110 140 20|11 10 6¢ V+1 ¢33 -940 130 3.0
14 6 3NV-1 5 100 120 40| 9 4 320+1 &A -130 110 50|17 8 66 V+1 v3 -940 130 3.0
17 7 2¢ O= *Q 90 100 6.0(12 13 3#0+1 ¥3 -130 110 50|15 1 64 O+1 v7 -1010 9.0 7.0
5 1 INO+1 &5 -120 6.0 10.0|14 7 2NO+1 T -150 80 80|18 3 640+1 vJ -1010 9.0 7.0
13 11 2NO = 5 -120 6.0 10.0| 5 16 INV+3 &T -180 50 11.0| 6 2 6NV+1 &7 -1020 50 11.0
16 4 2NO= *Q -120 6.0 10.0|11 10 2NV +2 5 -180 50 11.0|12 13 6NO+1 vJ -1020 50 11.0
12 15 INO+2 &5 -150 20 140|118 3 INV+4 T -210 20 140 9 4 7¢ V= 46 -1440 20 14.0
8 3 3NO= *8 -600 0.0 16.0(17 8 3NV+1l 4 -630 0.0 160| 5 16 7NO= v2 -1520 0.0 16.0
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